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Il Semester 3 Year LL.B./V Semester 5 Year B.Com.,LL.B./B.A.,LL.B. (Maj.-Min.
System)/B.B.A.,LL.B. Examination, June/July 2025 (Even Sem.)

LABOUR LAW -1
Duration : 3 Hours Max. Marks : 80
Instructions : 1. Answer all five Units.
2. One essay type question and one short note/problem is

compulsory.
. Figures to the right indicate marks.
. Answers should be written either in English or Kannada

completely.
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Q. No. 1. (a) Explain the provisions relating to registration of Trade Union. Marks : 10
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Explain the general and political funds and their collection under the

Trade Unions Act, 1926. Marks : 10
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Q. No. 1. (b) Write a note on withdrawal and cancellation of registration of Trade
Union. Marks : 6
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Q. No. 1. (b) Employees of Raj Bhavan apply for registration of Trade Union.
Registrar of Trade Unions refuses to register. Decide. Marks : 6
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Q. No. 2. (a) Explain the definition of ‘Industrial Dispute’ under the Industrial Disputes
Act, 1947. When an individual dispute will become industrial dispute ?  Marks : 10
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Q. No. 3. (b)

Q. No. 3. (b)

Q. No. 4. (a)

Q. No. 4. (a)

Explain the provisions relating to reference of an industrial dispute. Marks : 10
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\Vrite a note on ‘conciliation process under the Industrial Dispute
Act, 1947,
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Write a note on ‘Award'. Marks : 6
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UNIT -1l

Define strike. Explain the provisions relating to prohibition of strike. Marks : 10
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What is standing order ? Explain the procedure as to certification

of standing order.
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Write a note on “Lay-off”.
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Marks : 6

Raju, a driver with Kamataka State Road Transport Corporation is
terminated on account of his eyesight problem. Is he entitled to

claim retrenchment compensation ?
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UNIT -1V

Explain the different kinds of benefits available under the
Employees State Insurance Act, 1948.
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Explain partial disablement and total disablement under the Employees
Compensation Act, 1923. Marks : 10
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Marks : 10
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Q. No. 4. (b) An employee died due to natural lightning while working at thg
employers premises. Is the employer liable to pay compensation ?

Decide. Marks : 6
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Q. No. 4. (b) Write a short note on Medical Benefit Council. Marks : 6
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UNIT-V
Q. No. 5. (a) Explain the provisions relating health under the Factories Act, 1948. Marks : 10
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Q. No. 5. (a) Explain the provisions relating to ‘Authorities’ under the Payment of
Wages Act, 1948. Marks : 10
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Q. No. 5. (b) “A” is employed as a security inspector at the gate of the factory
premises. Is he a worker ? Decide. Marks : 6
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Q. No. 5. (b) Write a note on weekly leave and annual leave facilities. Marks : 6
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